©2015 Read, Wite,



Name: Date:

EVERYDAY MATHEMATICS—39 Grade
Unit 3 Review: Operations

Complete the tables. Write your own number pair in the last row of each table.

1) i 2 ;
Rule in out ) Rl in out

6 | 24 | 16

Add 3
14 16 | 8
12 40

21 2
35 28

For each problem, use rounding to estimate and then solve.
Use your estimate to check whether your answer makes sense.
Show your work.

3) a. Estimate:

b. 2 3 6
+ / 8

4) a. Estimate:

b. 7 3

c. Does your answer make sense?¢ Explain.




Unit 3 Review (continued)

5) a. Estimate:

b. 4 7

6) a. Estimate:

b. 3 ]

7) Use the tally chart and the key to complete the picture graph.

3rd Grade Sandwich Choices

Kind of Sandwich Number of Children
furkey g I b
peanut butter and jelly WWWW
ham HH
bologna WWM/—

turkey

peanut butter and jelly

ham

bologna

3rd Grade Sandwich Choices

Key: = 5 children
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Unit 3 Review (continued)

8) Use the turn-around rule to solve and draw arrays for each fact.

a. 5X4= 4X5=

b.10X 6= 6X10=

c. How does drawing arrays for these fact pairs help you understand the turn-around
rule?




Unit 3 Review (continued)

9) Write a number sentence to match each array.

a. [ ] [ ] e @

b.
[ ] ® [ ]
[ ] ® ®
[ ] ® ®

Number sentence:

c. Which array, a or b, in Problem 9 shows a multiplication square? Explain.

10) Victoria does not know the answer to 7 X 5.
She does know that 6 X 5 = 30, so she uses it as a helper fact.
Victoria starts by drawing this array for 6 X 5 = 30:

XXX XXX
HKXXXXX
HKXXXXX
HXXXXXX
HXXXXXX

Show on the picture and explain how Victoria can use this array to help her
figure out 7 X 5.




Name:

Date:

EVERYDAY MATHEMATICS—3'Y Grade
Unit 3 Challenge Review

Joshua like to skip count equal groups when he is multiplying.
He has to solve 5 X 6.

5X 6 means

6 X 5 means

groups of

groups of

How are 5 X 6 and 6 X 5 alike@

Would it be easier for Joshua to skip count é groups of 5 or 5 groups of 62 Explain.
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Unit 3 Challenge Review (continued)
2) Avery wants to solve 6 X 7. She knows 10 X 7 = 70.

a. 10X7 means groups of
6 X 7 means groups of
b. Avery uses the subtracting-a-group strategy with 10 X 7 to help her figure out é X 7. Use

numbers, pictures, or words fo explain what Avery did.

6X7=




Name: ' Date:

EVERYDAY MATHEMATICS—3'd Grade
Unit 3 Open Response Review
Finding a Mistake in a Subtraction Problem

Jordan wants fo solve the problem: 453 =254 =2
He begins by making an estimate.

Estimate: 450 - 250 = 200

Then he uses expand-and-trade subtraction to find an exact answer, but his answer is not
close to his estimate. This is his work.

4O
5O 13
453 >  HOO +50 @ +3
-25% > -200 +50 +h
200 490 +9 299

“Oops,” says Jordan, “I didn't cross out 400 and write 300."”
Explain why not changing 400 to 300 is a mistake.

(Hint: Use what you know about place value in your answer.)
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Name: $£%N3¥j§ng KE\?{S Date:

EVERYDAY MATHEMATICS—39 Grade
Unit 3 Review: Operations

Complete the tables. Write your own number pair in the last row of each table.

'I e
) Rule n out 2) Rule in out
&1 7 - 2% | 16
Add 3 -8or .
1 subtract 8
1 14 SUDIrgc ] 6 8
"i ©~
12115 40 | 3
18 21 R 23
32
o 35 36 28

For each problem, use rounding to estimate and then solve.
Use your estimate to check whether your answer makes sense.
Show your work.

. DA Vo 2y
3) a. Estimate:;  <4U * 80 = 320

1 1

b, 2 3 ¢
+ 7 8

4) a. Estimate:

6
b. /
4

e BT, e e T AR e ooy 4 \
, /315 close To 70 and 45 is close 1o 50.




Unit 3 Review (continued)

5) a. Estimate: 480 + 260 = 740

b. 47 5
2 5 8

o
&

s

W

6) a. Estimate: 2V
2 10 0 16
b. 3 1 6
- /9
2 3 7

7) Use the tally chart and the key to complete the picture graph.

3rd Grade Sandwich Choices

Kind of Sandwich

Number of Children

turkey

I A

peanut butter and jelly

i

ham

i Ht

bologna

it H It

3rd Grade Sandwich Choices

turkey

peanut butter and jelly

ham

bologna

Key: = 5 children

©2015 Read, Wiite, Grow




Unit 3 Review (continued)

&AE\ESWE ?\’E\{n

8) Use the turn-around rule to solve and draw arrays for each fact.

a. 5X4

o,

KKK XK

X
X

X
X

KX HAHK AKX AKX XX L
>

c. How does drawing arrays for these fact pairs help you understand the furn-around

rule?

O
>
O~

X
X

&
& g*a

X

20

LA

HKAHAKAHKX XK XK XXX
KA AKX XX XK XK X

]

X
;}i
X
&%
\

o~
L]

Answers will vary.

\/

v/
e

KX XXX XK XX

By, g

X

v
£R

3
'
X
X
Y
X

AV
Y

X
X

4x5=_20

X X X
X X X
X X X
X X X

3

6X10=_°¥

D D X X X X

X
X

W
VAt

HKXHKAKXX

DX X X

XXX
XXX

N

X
Pat

X

v
.

X
X

X

v

Ve

&
%
#
&%




Unit 3 Review (continued) *ANSWER KEY™
9) Write a number senfence to match each array.

a.

b.
[ ] © [ ]
[ ] @ @

~

Number sentence: -

g

(3 =9

\J

c. Which array, a or b, in Problem 9 shows a mulfiplication square? Explain.

, o b s e TGS o © Do fmd e ~pes b
ﬁ\??fﬁ\g b, 3X3= ;*" shows a multiplication sauare. Both factors are the

same, so the array | forms o 3 :}\f 3@ Jare

10) Victoria does not know the answer fo 7 X 5.
She does know that 6 X 5 = 30, so she uses it as a helper fact.
Victoria starts by drawing this array for 6 X 5 = 30:

PEXRXXK XXX X
XXX XXX
PEXRAXK XXX X

KK XXX
XXX XXX

Show on the picture and explain how Victoria can use this array to help her
figure out 7 X 5.

Possibie answer: Victoria can add another row of 5 10 maoke 7 rows.




Name: “ANSWER KEY* | Date:

EVERYDAY MATHEMATICS—3'd Grade
Unit 3 Challenge Review

1) Joshua like to skip count equal groups when he is multiplying.
He has fo solve 5 X é.

a. 5Xé6means ~ groups of o )

6 X 5 means 6 groups of o .

b. Howare5X 6 and é X 5 alike?

Possible answer: 5 X 6 and é X 5 are turn-around facts. 5 aroups of é

!

o
g

 the same as é groups of 5. They both equal 30. The products are

o

the same.

c. Wouldit be easier for Joshua to skip count é groups of 5 or 5 groups of 62 Explain.

f

Possible answer: It would be easier for Joshua to skip count é groups

because it's easier fo count by 5s than by és.

o

of

M
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Unit 3 Challenge Review (continued) *ANSWER KEY?
2)  Avery wanfs to solve é X 7. She knows 10 X 7 = 70.

i

~¥

a. 10 X7 means 10 groups of
6 X 7 means 6 groups of /.

b. Avery uses the subfracting-a-group strategy with 10 X 7 to help her figure out 6 X 7. Use

numbers, pictures, or words to explain what Avery did.

M‘tmmmxk ;M?M* M’?f.g . 4;:“:?& «\ OB AN NS
FOSsIole answer: since 6 groups Of / IS 4 Tewer groups

by AT . ot 7 Lomprd mmyem e ooyt Semime TN oy ey o
than 10 groups o1 /., JOoradn can srart rom /U anao
chvm e | o ¥ -~ ﬁ 3 a— é
rTaKe away 4 groups ot / /70 - 28 = 47

6X7=




Name: *ANSWER KEY* Date:

EVERYDAY MATHEMATICS—3'9 Grade
Unit 3 Open Response Review
Finding a Mistake in a Subtraction Problem

Jordan wants fo solve the problem: 453 - 254 =2¢
He begins by making an estimate.

estimate: 100 = 250 = 200

Then he uses expand-and-trade subtraction to find an exact answer, but his answer is not
close to his estimate. This is his work.

HO
=0 13
453 > HOO +50  +3
-25% > -200 +50 +4
200 490 +9 299

“Oops,” says Jordan, "l didn't cross out 400 and write 300."”
Explain why not changing 400 to 300 is a mistake.

(Hint: Use whd’r you know about place value in your answer.)

Possibie answer: Jordan needed fo chanae 400 1o 300 because he

could not take 5 tens away from 4 tens. He took 1 hundred for

tens to get 140 fo be able 1o subfract in the fens place, but he

forgot to cross out the 400 and change it fo 300. It is o mistake

because the hundreds were not regrouped. If Jordan regrouped

the hundreds, his estimate would have been close.
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